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1. A& 30,000 30,000 0
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3.8 155,000 135,000 20,000
1091 40,000 40,000 0
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2. %952 4,000 4,000 0
3. A S-FH| 15,000 15,000 0
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=
5.FFKeAl 2t 13,835 13,835 0
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2. W 12,035 12,035 0
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1. A AA S w R 28,200 27,000 1,200
1.994] 6,000 6,000 0
2. WS- n 20,700 20,000 700 700,000 < 13]=
3. ALY 45| 1,500 1,000 500 W FFFFN] 500,000 X 13]=
8,210 8,210 0
MNEEEd 8,210 8,210 0
1.247¢ 6,500 6,500 0
1.=AT4H] 6,500 6,500 0
2. =M4%9 1,710 1,710 0
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1. 058 H| 9,889 9,889 0
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2. AR 5314 400 400 0
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5. 2824 7} 1,700 1,700 0
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5. 48, ER 3,120 3,120 0
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8. 12 &7 =] 1] 800 800 0
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2.7 282 A =] 24,268 24,268 0
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1. 07428 11,916 11,916 0
1.o91] 4,850 4,850 0
2. AW F-F714] 3,850 3,850 0
3. AATGHFFH 3,216 3,216 0
2. 055 70,640 64,640 6,000
1. dnkpgn) 8,800 2,800 6,000 | AHF-8-F7 500,000 < 33]= 1,500,000
ARE717] f-A12hE] 200,0009 X 103])= 2,000,000
A4 dnkeedn] 500,0009 X 53]= 2,500,000
2.1 54,540 54,540 0
3. ARk - Fxm] 2,300 2,300 0
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